[ep]

C AAARBAYDERTRT O v ILRAGHETOT S L

[ep]

parameter (if=21, jf=21, kf=21)
dimension p(if, jf, kf),u(if, jf, kf),v(if, jf, kf)
dimension w(if, jf, kf)

data omega/1.5/
data ia, ib/8, 14/
data ja, jb/8, 14/
data ka, kb/8, 14/
C——— EFHEREE ——
dx=0. 1
dy=0. 1
dz=0. 1
dx2=dx*dx
dy2=dy*dy
dz2=dz*dz
c0=2. 0/dx2+2.0/dy2+2.0/dz2
C———— BLHI MR E ————
do k=1, kf
do j=1, jf
do i=1, if
u i,
v (i,
w(i,
p (i,
enddo
enddo
enddo
C———— AQHADRAS—RT v LERE —-
do k=1, kf
do j=1, jf
p(1,j,k)=0.0
p(if, j,k)=1.0
enddo
enddo
C———— REFHEL—FY ———
na=0
100 na=na+1
rmax=0. 0
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do ii=2, if-1
i=ii
if (mod(na,2).eq.0) i=if+1-i
do jj=1, jf
=]
if (mod(na,2).eq.0) j=jf+1-j
do kk=1, kf
k=kk
if (mod(na, 2).eq.0) k=kf+1-k
C—m— AAARARS L UVEREmERLE ———
if (i.gt.ia.and.i.It. ib.and
& j.egt. ja.and. j. It. jb. and.
& k.gt.ka.and. k. It. kb) go to 10



iml=i-1
ipl=i+1
jm1=j-1
jp1=j+1
km1=k-1
kp1=k+1
C——— NEBERICEITHEREZHZ0LE ——
if (j.eq.1) jm1=2
if (j.eq.jf) jpl=jf-1
if (k.eq.1) kmi=2
it (k.eq.kf) kpl=kf-1
C——— AAAREFARICEITAERFHZLE ———
if (j.ge.ja.and. j. le. jb.and
& k. ge. ka. and. k. le. kb) then
if (i.eq.ib) iml=iml+2
if (i.eq.ia) ipl=ip1-2

endif
C
if (i.ge.ia.and.i.le. ib.and
& k. ge. ka. and. k. le. kb) then
if (j.eq.jb) jmi=jm1+2
if (j.eq.ja) jpl=jp1-2
endif
C
if (i.ge.ia.and.i.le.ib.and
& j.ge. ja.and. j. le. jb) then
if (k.eq.kb) kmi=kml1+2
if (k.eq.ka) kpl=kp1-2
endif
C—m—— SORZIZCK HEtE ———
r= (p(iml, j, k)-2. 0*p (i, j, k) +p (ipT1, j, k)) /dx2
& +(p(i, jml, k)-2.0%p (i, j, k) +p (i, jp1,k))/dy2
& +@(i, j, km1)=2.0%p (i, j, k) +p (i, j, kp1)) /dz2
p(i, j,k)=pC(i, j, k) + omegaxr/c0
rmax=amax1 (rmax, abs (r))
10 continue
enddo
enddo
enddo
C

if (na.eq.1) rmaxl=rmax
rmax=rmax/rmax1
write(6,20) na, rmax
20 format (5x, 'na=", i3, 5x, ' rmax=", f10.7)
C——— INRHIE ———
if (na.lt.1000 .and. rmax. gt. 1. 0D-5) go to 100

- FEEEE
do i=1,if
do j=1, jf
do k=1, kf

C

if (i.gt.ia.and.i.lt.ib.and
& j.gt. ja.and. j. It. jb. and.
& k. gt. ka. and. k. It. kb) go to 30

dx1=dx=*2. 0DO



dy1=dy+*2. 0DO
dz1=dz*2. 0DO

iml=i-1
ipl=i+1
im1=j-1
jp1=j+1
km1=k-1
kp1=k+1

if (i.eq.1) then
iml=1

dx1=dx

endif

if (i.eq.if) then
ipl=if

dx1=dx

endif

if (j.ge. ja.and. j
& k. ge. ka. and. k
if (i.eq.ib) then
iml=iml+1

dx1=dx

endif

if (i.eq.ia) then
ipl=ip1-1

dx1=dx

endif

endif

if (j.eq.1) then
Jm1=1

dy1=dy

endif

if (j.eq. jf) then
jp1=jf

dy1=dy

endif

if (i.ge.ia.and. i
& k. ge. ka. and. k
if (j.eq. jb) then
jml=jm1+1

dy1=dy

endif

if (j.eq.ja) then
jp1=jp1-1

dy1=dy

endif

endif

if (k.eq.1) then
km1=1

dz1=dz

endif

if (k.eq.kf) then

. le. jb. and.
. le.kb) then

. le. ib. and.
. le. kb) then



30

kp1=kf

dz1=dz

endif

if (i.ge.ia.and.i.le.ib.and
& j.ge. ja.and. j. le. jb) then
if (k.eq.kb) then

km1=km1+1

dz1=dz

endif

if (k.eq.ka) then

kp1=kp1-1

dz1=dz

endif

endif

u(i, j, k) =@ipl, j, k) -p(iml, j, k)) /dx1
v(i, j, k=@, jp1, k) =p(i, jm1, k)) /dyl
w(i, j, k)=, J, ke1)-p(i, j, km1)) /dz1
continue

enddo

enddo

enddo

o HET— 8 DRILE ———

C

call graphic

stop
end



